£ £ 1
V —
Bz - R ®
i | i J (PPt = B K B B
- s # E. Ui T LA
% B | 4 & WHLRW | wmmw | @ op e #
| ® & | & @ | GHOME B
— - A E 5| 4 S # A
BB |6 R s R 13646 35.27 166 2B 14. I
ol og T |k OB OB AN 137.16 36.09 5614 FREEE EH 32

AMMER ~ e ZHWHEF = v 7 — BAEE FFH4% b = 20 SE TG e hRERE=RV) VBN B e T
Y - SRR o~ SR Mk ) BB 2

= Y
2 R B Wl Ar (R W= R )
(
i S |mimE | flnaeE A
mE | 4 < E1 =
% *ﬁ i LTS % | ')A ® i B o
W | M W B ERRE| S C WE% K E B | KEE W A A 5| 20 7
ME | ARBE T BRI MBI | 20 7| AWM | RANNEESEER | 42 4
WE OESEABWK | SEYT BE RS | 20 7 | UR | @EBHMWH | WEN W R WK K| 207
%ﬁg WHBWE | SR B EWSER| 2007 b | hRcrBURT | LR S AR | 20 7
2 BB BEN D S 38. 6
;‘ L S SARBMWE |4 W W@ 8| 37
i 4 20. N
]| WP AR FRT B mgg BB | BN BREEIRR | 40
Bl BB RENAESESE MR 29 7 = P IBRRIGE | hEERT B B BB 4% B | 20- 7
BA | KEBWIT | KER AR | 27 Urrrmmp | xaw sxsma| s
MBS BB BRERWQH | 207
) PSRN | 2SS R AP |4 ARSI | 4 BN @R B | 4T 7
NEBME moR N ERBMG |F mHmABER| 47
ﬂ%{ S BT | HE AR KR B | 207 B sk mmeT | BUENT & E OB @ | 2L 4
ESBRUN | MRY & w24 AEBMEE | A O |®OR 4% w361
mﬁ?{ ERBWE | BET WBWMB | 7| 5 ERBUS | ERRESEseR| 308
UBERBWT | BN BENEREN | 27 4 FRANEBET | FHE DRSNS | 36 4
EBBWE | RET RBEWBH| 2 7 g )| VBT Hom | 30
RS & WHWH | G0 & W 27 4 Flammwm | 0 & x | 7
REMy % W W & B | @ Wz ORI | W2 RS | 4 1
AWM | AR I R E BB 207 O EMBMBE | EMETOE R AR AR BT 2n 4
PO | REHREREE B | 2010 pnd | g SRR | ANEET MM B R E| 3008
Blapp BB | L2BN ARDBR| 27 4 BB | LEN TSRS | 3810
ERBWE | F B N & $| 20|
{;\,cu;@;gmgum | M OE M & | 2010 BUUPTMRE - (45)wereeer -




sz B K mLU—"l o vzeg, s BRI B3R e

% # ’ B b}

Ax T e 2 & | @ F & @ B & A f % 0
i B H i 25 Wi BlE TR 815 W B3 i
¥ ) ¥ G AR A A H ) ) ) B ®
— B 764.1 714.9 771.8 722.0 14 14 752.0 703.1 5 5
= B 766.0 716.6 7475.3 725.4 {30 10 750.8 702.3 I
= ;| 762.2 713.8 772-1 722.7 22 21 752.2 702.4 2 2
P4 A 759-7 712.0 769.1 720.8 2 14 747.7 699.1 25 18
A 760.7 7135 769.8 721.3 3 751.3 705.5 30 30
= A 756.1 709.8 7637 716.6 I 1 735.2 690.3 19 19
& A 756.8 7111 762.0 716.1 9 10 739.8 697.4 25 26
A B 757.2 71L5 763.2] 717.4 28 11 741.4 694.9 16 16
h A 760.5|  714.3 766.4 720.0 24 25 749.6 705.9 22 22
+ B 760.4 713.6 769,5 721.8 6 6 749.8 703.8; - 16 16
+ — A 764.1 716.1 772.2 725.0 15 15 7555 70%7.1 24 14
+ = H 765.1 715.9 775.2 725.8 18 18 7539 705.3 19 19
2 & 761.1 713.6 775-3 725.8 3 sl 12. 18 735.2 690.5 6. 19 6. 19
BHkET=4 760.0 712.4 773'0i 723.4 2. 3 3 25 740.8 697.4 5.11 5. 11
iy e = 760.5 713.0 775.3 726.0 12. 28 12. 27 734.0 686.7 4. 7 4 7
" ee—a 760.6 713.1 775.1 726.5 12. 9 12. 10 731.9 689.3 8. 7 8. 7
5l + & 760.2 712.8 774.1 725.6| 4 4 4. 4 736.0 698.6 8.15 8. 24

A~ HFR 5% b e o8k R0 TR RSO =B v 2 VRE SR ZF Ry UTERSRE Y
ARE=By VI BN ~KSBEOEE, S v ave ) F v iR =R By ¥ v R E =K R =R
mEEF >y s v~h T ZUTERSR Y

U B vevnesernoenens FH ) EIE(—)OER G wererrerrneenns WH~ 2 EEM) 5%
Blyererree BB ) FIE(—)OO e eveeeeevenn- YT ~ B IE(1)49.7%6
I B & = Ao vZER 2 TR 3749+ pase
= Ed \ 7 id 33
AR T 8 [ & AiEl | & ﬁ'lﬂiﬁéﬂ\%k&*%:!ﬂ.ﬁ:@ﬂ
CENEANC AN AR & TE 0l »TE 06 BTA WE AE
B Ji-4 B E | A # A 8 E |, ):4 B B A )4 A 8 A ®
— B 3.6/(—) 2.5/ 157 1I0.2 30 30 (=) 4.5/ ) 15.0 14 14 148 18.6 21 21
-t H 4.7 o.1| 16.4) 16.0 28 28/ (=) 5.0/ (=) 11.6 20 10| 16.4 21.4 28 10
= J: | 8.4 3.8/ 21.6] 200 29 28 (=) 2.3 (=) 129 12 12 16.9 23.8 5 28
1%} A 12.7 8.9 24.7| 255 23 24 0,0| (=) 4.7 2 2 16.5 24.8 23 23
5 ): | 16.6| 13.4] =27.1| 28.3 12 10 3.6| (= 2.3 2 18.8 26.5 9 9
~ A 21.5 18.5] 30.I| 29.2 4 4 12.1 9.9 9 22 14.6 15.8 9 24
-k A 25.8| 220 356 335 20 { 1} 14.9 10.9 6 6 15.5 18.9 20, 6
A B 25.8 22.3 331 34.0 27 12 18.2 14.4/ 22 3 13.0 16.9 22 28
Ju A 23.4| 194 316 305 2 {1 13.2 7.7 23 23 13.7 17.6 23 19
-+ A 15.6] 11.2| 26.2| 26.2 2 2 6.3 1.9 20 30 16.6 10.0 20 25
+ - A 1L.7 7.8 217 19.8 17 24 1.3 (=) 2.8 4 12 16.0 18.6 22 11
+ = A 5.4/ 1.0 169 163 { .53 2l (=) 30 (=) 7.4 22 30 14.8 18.6 1 2
2 g 14.6| 10.5 35.6] 34.0 7. 20, 8. 12| () 5.0 (=} 15.0 2. 20 I. 14 18.8 26,5 5. 9 5 9
B =4a 1390 9.7 339 32.8 8.3% 8.26/ (= 5.3 (=) 14.8 2. 11 2. §2 17.5 237 £ 339 4.3
H Etr=g 140, 9.6 36.1| 350 7.18 8 {6_ (=) 6.6 (=) 180 12.29 2. 14 17.9 24.6| 4.24] 4.12
A -5 137 9.4 34.6] 34.3 7.27 (=) 7.9 (=) 167 2. 27 1. 10 18.4/ 24.5 5 6/ 519
[ 1t iy ol =3 13.9 9.7/ 329 34.0 8. 28 8. 23l (=) 81| (=) 14.7 2. 3 1.13 18.7 246 3.7 5-20

R BEAFR OB M) BERE~—A9 2 EEsRABY O VHET v ~RET 2 BT AUTERS
Al ¥

e




2 5 3
= s =R
s Btz el = A JWKX%LB&jJ RE.Z8.X8BE  wsnioe
T 7J<§ﬁj§&j] i B 2 & % 2 &
A x| KB | B | MELER AW
BE ) il R ) Sl | eER el RIS BT E i BRI E & B & b
¥ % A H| A H ¥ %% ¥ 3
— B a4, 34 72 85 39 36 240 24 5.7 7.7 534 49.5 Ly 1.6
- A 4.5‘3 3.7 70 8o 32 31 19 10 4.7 7.1 65.0 67.7 2.2 2.4
= A 58 47 7o;i 78 31 24 { Ig 28 6.3 7.5 85.0 68.5 2.7 2.2
m A 78 63 7v 74 31 23 21 23 5.9 7.1 1109 95.5 3.7 32
% B 10.0; 8.0 73 71 28 24 { 2? 2 5.9 6.6 137.4] 1394 4.4 4.5
S A 14.8! 12.4 78 79 40 23 9 6 7.7 8.5 132.4 122.7 4.4 4.1
+ B 18.6; 15.9 77 82 35 28 20 6i 7.1 8.3 585 140.3 5.1 4.5
A B 19.6; 16.3 S0 83 48 33 22 28, 6.7 8.0 I41.5 143.2 4.6 4.6
1 A 175 149l 82 87 43 42 { 23 3 7.5 9.0, 1044  97.5 3.5 3.2
+ B 9.9i 86| 75 85l 33 38 24 =25 5.3 7-9 95.0 64.2 31 2.1
+ — A 7.9, 6.5 76 82 34 31 10 11 5.4 7.7 55.3 53.5 1.8 1.8
+ = A 5.1 4.2 77 86 38 41 3 5 5.1 8.0 49.3 48.1 1.6 1.5
2 .. -1 10.5i 8.7 75 81 28 23 5. 2? 4.23 6.1 'Z.S 1,188.1] 1,090.1 3.2 3.0
WHEmT=4 70.4 8.6 77 83 28 24| 4.15 3. 2 6.4 8.3 1,034.6] 1.004.1 2.8 2.8
1 [ et = 1031 84 77 81 33 23 { ﬁ‘% 4.13 6.1 75| 9987 1.073.6 2.6 2.9
N R A 10.1 8.2 77 82 33 22| 2.23 6. 8 6.1 7.5/ 1,043.1 1,066.2 2.8 2.9
H M-+ & 10.3 8.4 76 81 30| 25 3.7 6. 2 5.7 7.3l 1,302.8| 1,095.7 3.6 3.0
ORI B AR = B 2 KA BRI T8 = v R BN MR Yy 0 7 U3 B 7T
ZEsR, PRI~ 22 :kﬁ%%ﬂﬂ/ﬁW§ﬁﬁE#ﬁvzﬂurﬁ/kﬁ?T7
mgz,»iﬁﬁﬁ:f—rﬂ /7**@5’ X3+Fr vRIVEFUFHvELVYFE T A
g B J st = A o R 2 S KR ) B9 v+ pute
I 7 = B i 7 il I
2 R ITE 5 & B A EH@ | @EEA X B 5 W
B B E W BEIE b BIE e RIS ] g B |5 i
* * % TR - B g A B [ B
- )] 2.7 L7l 14.0 112 JerE Epict 16 8 18 w7 47 7
| = A 3a 23 131 13y gl mEE 15 5| 43t m k34
|1 =2 A 35 33 18.7 140 4uFH dbe 19 19 deas T db2z W
1 i A 3.7 3.3 16.3 14.2 Jbs agicl 6 26 Jkor F*72 W
| = A 26 25 145 147 ¥ 24 20 FS3 7§ %87
1 = A 2.9 2.0|. 25.0, 10.2 B Jbxrs 19 28 Hio4 T8 89 ¥
+ B 2.8 1.8 11.2 83 WxF| dh«T 29, 26| {69 T Je62
A 3 2.8 1-6 26.8 135 B4 il 16 6 @E7 R 7o
Hu A 2.1 1.4 I1.2 9.0, Hk % 7 Jb v 22 15 Jkiz 7 Hg57 W
+ B 25 16 117 77 kT B a7 22 i 3 7 Jro X
+ A 2.6 2.1 12.8 14.2| Fg&E ] 13 23 Jkis 7 JL78 18
+ = B 2.4 1.5 15.6) 13.3 JLEE 4 20 27 k28 7 Jk6o 7
%2 & 2.8 2.1 26.8 1470 A g’} 8.16 5.20 Jk4z 7 463 7§
Eﬁ =4 2.6 1.7 18.8 12.0 i3] Jb7 8. 28 3. 30 dk3o Jkao B
B m+=a 2.8 15 204 130 kP W 4 7 o614 d15 360 7
B 2.9 L7 237 15 :}bi’ﬁ jbep 1127 rnis dg20 @M 56 7
W -4 3.1 1.8 18.0 14.7 i 2. 28 5. II dk2o W k62 7
B 7 SRPE ~ —FORRR] = 2 WD{&J HR RJTS&)W)?T?
JB 2 R TV ~ B R YRRy 7 ek YV B =R A v 2 VI ER B VE=RA v MAE B

i o i




4 R E
) = —_ 42, ol B R —
R EEIL =R vERE. B XY U B
W Vi H 4 =3 > v B
A I E [ coeRz WEBE I @@ S Iga g
llﬁiilmm l&ﬁ-ﬁ%";ﬂ;ﬁ l%ilu% e (Sl | B (& bR &l NI
23 2 "] A H
—_ J: ] 105. 6 99. o 4500 24.t 31 12| 12 15 1 39(91 110.3 45 36 7.0 9.1
= A 48.0 7o.5| 219 26.7 15 15 11 17 150.0 126.7 51 42 6.9 8.8
= A 120.8 101.8] 26.4] 9.2 13 7 13 19 157.6 107.9 3 29 6.8 85
jut| ):] 179.2 214.7| 66.8 70.2 25 11X 10 16 203.0 170.0 52 43 6.7 8.3
b J:| 123.8 87.4] 33.3] 269 14 14 10 o| 2310  219.5 533 50 6.6 8.2
s A 326.8 338.6| 101.5/ 175.4 28 28 16| 20|. 1500 150.1 35! 34 5.9 8.8
+ A 216.0 260.8] §I.2| 42.1 3 1 1§ 20 198.9 143.9, 45 32 5.0 5.9
A A 309.9 371.2| 8.8 113.2 4 3 20 16) 201.9| 174.5 43 42 4.6 4.0
Ju B 284.9 368.8] 44.6] 443 21 10 22 22 131.7 130.1 36 3 5.7 5.8
+ q “82.1 127.2) 31.2| 434 3 3 12 15 I9L.5 117.3 55 34 6.5 8.9
+ — B 100-4 135.9, 60.0 35.8 24, 24 15 17 151.3 113.8 49 37 6.5 9.4
+ = A 46:3 520 196 168 19 19 14 I5| 1600 688 53 23 6-9 9.7
2 # | 1,052.8/ 2,227.9] 10L5 1754 6. 28| 6.28 172, 201 2,071.8 1,632.9 47 36 o 6.2 7.9
| | ! ! B
Wt =5 1,037.6] 2,177.5 957 1987 9.27) 9.6 179 =221 1,054.1 1,446.7 44 32 ”i 83
A mtos 2,180 1,750.6| 119.6 797 6.9 6.27 180 112| 2,196.7| 1,646.6 5o 37 6.8 7.5
B M- 2,134.5| 1,803.0 88.3 69.9] 6.29 4.8 174, 223 2,200.6 1,562.8 50%1 34, 7.1 7.5
115 1 B i< 2,090.4) 1,702.5 76.2 66.4 6.13| 5.6 160 206 2,325.0) 1,739.3 55‘(‘ 39 7.5 7.3
ek ) B~ EAR g2 ESE - v TEST = Wi WK EFVH VBV RE AR Yk X VB BT T2 VT ENE=Z
FY RS vFARH I EM X
RS~ BAEGE 2 +5 7 — U LY YHEB 2 FHE=
ok E ) —46F —8E 2 FHE =B A v —FAREA —=yr W BRkEA—BN=AETER=E
A B ~BEAES=HyElev=e, )
[ v > o~ RERARK )ﬁ@ﬁA-—a VEHET B FUFZFIRA
e B K sy = R o v 75%‘\‘ H 8k & FEEL G A &L B -
- X ! B 14 % @& B % A H 14
W | A % - _ : 7 -
FEFIEIERER ik 2m| 5  %E |24 &
. — B 19‘ 4 7 1 31 12 6 17 — --‘ — 4 X
= B 20 3 5 — 28 10 3 16 —_ .._l — 5 5
= B 17 3 11 — 31 13| 2 6 — _ — 9 2
i} A 16 , 5 9 — 30 10 —_ — — _.1 —_ 7 1
H B Sy 6 8 — 31 10 — — — — 1 2 3
= A 11 14, 5 —_— 30 16 — — — — — 2 3
4 A 11 4 16 — 31 18 — — — —_— 6 2 1
A A 12 2| 17 — 31 20 — — — — 2 2 2
J A 8 4 18 — 30 22 — —_ — — 6 1 1
% 5 + A 20 3 8 — 31 12| —_— — — _— I 1 4
+ — A 17 Jd 1~ 30 o D T R S N 6
+ = A 24 1 6 — 31 14 2 17 2 — 2 4
2 g ‘l 192 51 121 1 365 172l 13 61] 2 II 16 38 33
. -
Bt | 182 55 120 8 365 R - T T a1
17 [ L iy << 203 46 107 9 365 150 28 68 3 I 19 57 90
B - 203 48 108 " 366 174 29 61 4 6 18 64i 22
\ B A 210 43 106 6 365 160 32 70 3 7 21 60‘ 26




E=) £ 5
=X — F =
e B R s = Ao v KRB BRAEHR A %:%
pum— . s
r ; N X % B X # ®m % R N A
| 5 . RAGE
H = ) = o2 2 3 i’ﬂ! E
FYENERER S EXE R RN
—_— B 7 2 2 20[ 31 15 20 29, 1 2 —_ 2 —
- A 4 2 18 28 17 17 13 2 5 — 6“ 2
= A 5 2 12 12 31 g 11 12 4 2 — 70 X
1| B 4 6 16 4 30 16 3 5 1 2 —] 9 1
G B 14 4 13 — 31 9 — 6 — 8 2 6 —
A )| 7 2 21 — 30 200 — — — 5 2 1 3
+ A 7 3 21 - 31 20 — — — 7 I — —
A A 5 3 23 — 31 16 — — — I1 2 1 I
- A 3 4 23 — 30 220 - - = 5 3 — —
& W + B 7 3 21 — 31 150 — 1 —_ 10 - _
+ - A 8 4 17 I 30 17 I 13 — 7 1 2 —
+ = A 5 4 2 20 31 15 19 26’ 6 5 — 2 —
% e 76! 39 175 75 365 201 71 96% 14 69 11 36 6
—_— I - i 1 )
BB =58 | ra 79| 109/, 56 365 221 go| 101 8 85 26i 13 8
AL et 168| 48 101 48 365 192 86| 127 25 76 19, 1 21
A pd—& 154 65 101 46 366 223 93] 112} © 24/ 89 271 18 13
S e i 174| 53 108 30 365 206 86| 119 7| 7TOI 19 . 30 13
K BEER ~— B FHEREL WUTER~AAU L= v 7 RekE— OMYT . B+ EvRX EX 280
F=iin T2 —0 ) kB—HUAL7 Y YA FUFFE )
ARSI N B ~ 8= v 7 0~ BRS S = TE Bk v x v BB By 2 ) By RE IR 2 BEE
R E@rEBEU D =Ry ve ) FE
=Nl . M= sy O = JE
I B B v 1 = 7 o LR B R e (L B vh e+
: H ES i3 B B &5 i 5,
A R ﬁ'% & TAELEA | & g B | @At & a
B B E W% B & W6 Bl ;e Blm Wik BE MW BE1 & Ib
% | B i3 E A a] B & i3 3 3 % B Wi A H
— A 4-6 0.8 15.3 10.I 29 4 (& 330 (=) x| (=) 820 {7 17T 14 14
= A 6.3 2.4 18.2 12.4 28 28 (=) 54 (=) 6.7 ¢ 9.5] () 14.9 1o 10
= ):! 105 5.9 24.3 17.5 29 28 L5 (7 4.3 (=) 6.0| (=) 15.5 iz i2
i) A 15.4 117 29.9 22.9 29 27 3.5 (=) o5 (7 30| (= 81 2! 5
* A 20.0 16.6 318 30.6) 31 31 9.3 2.4 06| (= 8.5 1 2
» A 24.1 21.9 33.8 31.6 4 29 16.0 10.8 10.1 5.4 95 9
a1 A 28.3 24.9 41.2 35.4 21 { 11 20.6 15.2 11.8 6.4 6 v
A B 28.2 25.1 37-7 34.3 14 27 21.0 15.4 15.9 1.6 22 6
J B 25.8 22.8 40.0 41.7 3 3 18.7 13.7 10.7 4.0 23, 23
+ A 18.0 14.9 28.7 25.9 2 2 8.6 3.0 3.4] () 2.0 20, 30
+ —- A 12.8 99 19.9 15.0 17 {41 4.5 (=) 08/ (= 2.2 (= 7.5 4 12
+ = B 6.9 35 14.8 10.7 4 4 & 1.8 () 06/ () 5.6/ () 1Ly 18 30
& -3 167 13.3 41.2 417 7. 21 9. 3 70 2.8/ (=) o5 (= 177, 210 I 14
. : ; i |
Hrmi=8 15.9 12.3 39.3 323 7. 25 &{5? 7.3 34| () 1L0 (7)) 19.7 2.11 3. 2
R W& 19.2 12.5 41.0 335 8. 4 7- 30 6.2 2.5 (=) 13.7] (=7 17.6 12'26? 2. 4
L i Y 16.0 12.4 437 320,  6.11) 8f} 6.5 3.1 ) 13.6 (=) 15.2 2.7 LIO
W W+ 16.1 137 42.5 32.8 8. 4 8. 22 6.8 270 (=) 129 (=) 169 2. 3  L.13




6 ] e}
vB =N vB
Bt B R 8 1y = A o v ST R R i B i W32+ e
it B i B = = B i
A R E = R\ EWR|E=R| & — & & i
54 B TR 2| & W | g B & TREEEE ! v | W LA
] i3 3 . K 3 3 i B & A A
— A 5.0 1.6 9.4/ 3.5 15.3 6.2 9.6 18.3 30
- A 6.5 2.8 9.5 3.6 15.1 6.1 13.4 25.0 I§
= A 9.9 5.8 . 10.6) 6.1 14.8 7.0 15.5 26-4 29
™ B 14.3 10.4 13.1 9.6 14.5 8.8 23.3 33.5 7
X A 18.3 14.7 15.5 13.5 14.2 117 28.9 34.6 19
X A 22.4 19.9 18.1 18.1 14.1 14.7 34-0) 46,0 19
+ A 26.2 23.4 20.8 21.5 14.4 17.0 34.1 41.0 14
A A 27.1 28.1 22.4] 22.9 15.0 18.6 34.8 40.9 27
i A 25.2 22.8 22.3 22.6 15.6 19.3 33.0 42.9 5
+ H 18.4 16.4 19.6 18.4 16.1 18.0 24.9 34.6 8
+ - A 13.0 11.4 15.7 13.6 15.9 15.5 18.6 25.0 23
+ — B 7.5 5.4 12.6 8.1 16.1 10.5 13.0 24.0 2
% & 16.0 13.6 15.8 13.5 15.1 12.8 23.6 46.0 6. 19
Vo | '
RN = ‘ 15.7 12.7 15.5 12.9 15.0 12.5 23.4 44.8 7. 11
B mioa | 18.8 12.6 15.5 12.9 15.0 11.8 23.6 46.7 8. 6
B om—a 15.5 12.6 15.4 12.6 14.9 12:2 23.9 49.2 8.17
T 1" e el =Y ! 15.8| 12.7 15.8 © 12.8 15.2 12.0 23.2 43.2 7.17
|
BERIEE b SRR o T By x v S F P e v )
N —_—a - /:.—A
BB R E L = VUSRS By v e
PRETRE TN \ﬂ@%ﬁﬁ/a&ﬁ B o d TumE A
) e ; :
| Fow | gkE | RES | M| E 6|6 m;zr#: IR Sl
P - T e B BT | % [ % | % '
%g—g{ﬂ_ﬁ_ 2 7764 7775 7748 3.4 24.7| (<. 5.0 §-0 15.3 r.8 70 31 5.6 515-6
= 7!3-!‘] 722.7,  699.1 87 283 (129 6.3 13-9l 1.4 74 23 7.1 4976
Eé{ﬁ B 776.2| 7770, 7735 10.2 35.6 3.6) 14.5 230 5.4 76 28 9.0, 5799
= W 710.8 717.4 695.2 20.9| 34.0 9.9 14.9 25.4‘.\ 7.9 81 28 8.3 468.5
hE {nﬂz B 7758 7769 7743 233 331 6.3 157 243 59 79 33 6.5 5251}
B I 714.7 725.0 703.8 12.9 30.5 (=) 2.8 100 214 3.7 85 31 8.2 3612
{d& B 7759 7775 775.2 12.4 217 =) 4.5/ . 58 152 33 75 38 5.4 4512
= 1 7153 7254 7023 (=) o9 5| (risof 37 &3 14 84 3t 77| 3091
en lm w ok  ® | ® B OB | -®HRuE N N I
51 Wi - s B KHERK OB REARY
PR e m (52 B mom ase | P | GF | B (RESR
- 7 =3 KE LR % ® %
#E {@ B 348.0 66.8 25.0,  260.9 6.3 34/ JupE 187 Akl 15 27 34 21
= il 403.9 49.7 23§ 303.4 6.5; 30 dumE 147 M 9 51 44 2
. ' | ‘
E?{“ﬁ B 450.6] 1013 41.0|  428.3 01| 28 | 250 @ WH 10 45 34 6
= 970.6| 113.2 55.6 406.2 8.4 1.8 Bl 135 B — 60 56 2
weld % 5048 088 488 3400 7.3 25 b 268 B«¥ I 37 54 4
= W 631.9, 60.2 27.3) 215.2 6.0 17| kR 142 o] — 63 541 2
|
/%g?{ig B 261.3! 60.0 43.3 158.0 37| 26 dJppE 156 e i 11 21 41 g
TE W 233-1% 26.7 14.2 62.7 4.2 vy 4kl 137 VHEETY 3 50 52 o |
ot




R 8 7
(=X — A ? oy —
IR K @l = B R RR o1 P
pum— T — oy —
,, BB 7 B jgB A& 0| BHAZATAE | gy SR T =0 BtA A6
T s Sy EAN IR BV ALY 1 F ST Rl 00 W i X3 & 1
| A g |Pmay |k & [BEay |k & |Fea | K £ | FE) K £ TESY
%”-d— 573 B [ 2 | (G2 - =) 2 6 |
v J X -9 0.3 5.2 2.1 7.2) = o. 22. 0.0 27.2 (F) L.y
T8 R ﬁ{x% | & 39 (= L5l =) og B 20 22| (=) 0.3 194 (P o 2277 (+2 0.9
L B 81 (H 03 10.3) (P 2.3 131 (7 0.3 26.9 (=) 0.3 30.8 () 0.6
z‘sﬁjﬁ'ﬁ‘ﬁh{% (1§ 1.6 (= 1.3 5.4] (1 z.g 7.9 (=} 1.4 2571 (¢t) 0.3 39.8 () 121
W B | () o8 ) oux .3 () 25 2.1 (= oy 19.1 ¢ oI 22.6 (+) 07
?ﬁlﬁﬁﬁﬁ{f 0| 85 (& 1y () 46 (D 24 D 23 ) or 148 ) o1 176 ¢} oo
. 5 2 -3 31 (1) o8 2.6) (1) o2 37 o8 30 o 2.4, 0.3
poRER{E | 18 b o7 16 (B 1o, 36 (B 18 To O os 17 o) 0.2
e I OB 14.0 10.3 18.7 25.0 81
B WA B {,é] 1 I1.2 - 9.6 - 14.0 - 1(5),2 - ;.o -
g a{d& A 72.1 (=) 3.1 63.1] (=) 124 4357 (1 1.6 149,5§ =) 4.8 137.1, (+) 386
' = I 475 ) LI 50.4/ (B 8x 23.0] (=) 107 1383 ) 19.2) 106.6 (i) 20.8
¥y EE > B 5.7 =) 0.6 5.4 () o1 5.8 (1) o.2 7l () o2 6.1, (=) 1.0
= =5 s 7.8 (1) o4 7.3 (=) 0.2 8.0 (1) 1.0 8.4/ ¢ o1 8.0 (- oz
H }
;- X 69| (- 8 75 o 66| () 5! 81| h 1 72 (=) 8
8 R ﬁ{‘.% i 84 (= 2 82 o 8o (B 2 sl 1 81; o
Mok e (I B 2.1 (=2 120 73.2] (1> 347 o5l (=) 34.2 423.5) (1) 129.6 8.9 (=) 145.8
: 7 B = i 4070 (=) 7.1 41.2] () 31 5.8 (=) 26.6, 472.6; 1 178.8 96.3 (- 191.0
|
573 =X 27.00 (1) 5.9 25.7] (1) 2.4 227 (¥ 2.6 130.3 (P 154 105.8 (t) 35.5
R E{% i1} 26.3 () 3.8 25.6] (1) 1.2 16.2) () 1.6 124.§ ¢ 119 gL.4 () 14.6
s 20 X 4.1 () o4 5.9 (1) 1§ 10.3] (2 0.3 25.1 (=) 0.3 200 1) Ly
Zlii‘]ﬂdiiﬁyﬁim U] o4 (=) 04 16{ ¢t oy 5.4/ () 0.8 22.4| G o}) 25.6 (+> 0.8
e et — ‘ ! — ' E———
)@E%Hi’rua amatai— By (ANAARR) [BZ EH‘BU’LH a> fd(m%f:i}’l.‘%ﬂ‘—“ﬂ
o B | YFEAA AH | TAEAH A H EFEUA-DI|E K FOLABR BRI
A & |Fay | m F|Feay | K @ |FEa) A:ﬁa{ﬂéfa:—zu EN Ak
—_— _ : | ‘
wm il B 252 () 1.3 25.4| (&) 1.0 26.3] P ol 23.6] osf 21.2, (+ 0.4
T AR ﬁ"i% 1 21.6| (=) L§ 21.8) (=) Lj 22.9( ¢ 0.3 1;.8 o7 17.7i o 1.4
57 B 28.9/ (=) 2.3 234/ (=) 0.8 3L.I (=) 0.2 28.4 1) 1.3 26,1 (1) 1.1
ZFﬁﬁﬁﬁﬁﬁ{% 1 27.2) (=) 2.3 279 ) 1.1 30.6 (G IS | 26.8] x.ii 2400t 19
53 B 226, (=) 0.3 22.4 (&) 0.5 22.8) () 0.3 20.2| () 1.5 17.9 (¥ L3
THEER ﬁ{% th 17.6, (-) 1.2 17.5) (1) 0.2 18.2 0_8 154 () o1 137 (Fy L3
|
s i B 3.0 ) 08 30 P o8 2.8 () o7 2.3 (P 04 2.1 () 0.5
Zpﬁ”ﬂ"iﬁ{ﬁ 11} gS‘l + 03 1.7 (=) 4.2 1.5 () ol 1.3 = 8.7 Ly () oI
N 5 - X 11.2] I1.2 26.8 11.2 [ 1.2
REES &{% il 8.8 - 8.8 133 — 9.0 . 6.7, l
H OB B Bt (5 2 - X 658 (=) 397 03.1) (=) 338 1440 (=) 306 103.1 (=) 14.9 28.6 =) 1.4
=X i 67.0 (= 18.6 101.2| (= 9.6 144.9) (P 12.9 72.1, () 21.3’ zz.li (=) o6
o e E{ﬁ - X 8.2 () 1.2 7.9 () 1.3 6.4) (=) 0.4 7.1 (P og 7.o‘| =) o
= =2 ] 8.3l (1Y 67 82/ (1) 06 8.2l () 08 9.0l (¥ o9 8.8" 0.3
g R 82 () 2 g1 b 5 79 (=) 1 81 B g 82, (5 00
TR [ﬁ{% i 84, ) 3 83 i 3 81 (1 87 5 91 6
I
269.7| (7 153.1 274.8| 1) 128.2 7.2| (=) 5o0. 215.4f () 0.6 13301 > 72,
ok B 573 9 3 74 8 9 6 6
’ Y B hy 308.2| (1) 2168 308.2| (1) 197.6 104.9 0.6 370.4| 140.01 126. 1v ¢+ 56.0
\
% B W E{lﬂﬁ B 54.5/ (=) 20.4 75.8| () 22.6 121.6) () 9.2 8o.4| (M 3.55l 269‘ +, 6.7
i = 1 64.7) (=) 17.9 838.7] (- 14.3 121.8) () 9.L 721 (= 3.2 212 () 20
. % B 27.8 (= 20 27.8 =) 16 28.8 (=) 05 261 ¢ 15 234 (B 08
; ?ﬁﬂhi@ﬁﬁ{% il 242 (=) 2.6 24.6| (=) 20 26.0| -} of 23.0 o.ol 20. 6' ) o038
AR B~ HAR=RA ¥
EWAGE | (=) ~RET 75 P BB BEX~BX 222 X%2 T ) E= v7 (= E~E*x= M5
= bbXa b)) BF ) UTEARFRE ¥




i

8 # -
B R el = 7 o VBRI SRR B3+
o o E TEAE | RAEAR | RGEAER | BE @I | Wk R
A LT 7
IR L wie & & w
B j:3 B ] ;3 3 i
j]* A 16.2 12.6 220 18.4l 1%.2% %.4 81 88 14%.1 166’6.%8
ibf.a% 0.0, () oy =2 og (D o.g ¢ 06| (1 1.1 2 4 (= 155 P 270
N — - 10.4 5.4 17.2 12, 5.4 o. 8 6.8 .
BT =4 Fig=) | (D o1 0.0 ¢+ 08| () oy ¢ o0l O-i = 73 SR i = ZG-Z (= Z;Z
+ 2B 43 02 9.5 4.7 0.4l (= 3.8 75 86, 5671 (= 63.6
ZEipa Y =) 1ol (= 06| (= LI = o7 =) 06| (- o5 =) 4 o (=) 169 46.9
— B 3.6] (=) 2.5 S.9 3.2] (=) 035 (=) 7.1 72 85 105.6 .0
Zf-fgaa ! (B 0.5 (=) oz (P 10 P O'si ) o1l = o3 4 =y I M 23.6 G 9?0
ot B . 4.7, = o, 10.1 5.8; ; 0.5 () 4.3 70 8o 43.0 70.5
i&;éga% (> ;’;3 ) 2% () 1.3l 2.6 I.g ) 3.2 =) 1 =) 2| (=) 184 ) o2
= 4 3. 13.7 10.4 3.6] (=) L.y 70 78| (=) 120.8 101.8
Bgap st Bar= () 1.4 (P 19| () 12l (B 2.3 ) 15 ) 1.2l ()1 0 25.31 (=) 29.3
pU B ~ 12.7 8.9 . 18.1 ) 16.2 B 8.2 32 71 74 179.2 214.7
Z]%ﬁa y | (&) o1 0.0 (=) 020 (1) 0.3 ¢ o4| () o3 ) 4 o (= 40.8 (< 6738
En B . 16.6 ~ 134 22.4 21. ) 11.3 6.7 72 71 123.8] () 874
Zf-ﬁaa D) (- 0.4 (=) 01| ) o (P 08 (=) 06 () o6 ) 2 = 2 ) 857 65.1
;{; ) A 21.5 18.5 o 26.1 25.3| 17.6 13.9 78 79 326.8 338.6
sy | (B o1l (B o5 () o (H) 08| &D) 04} 1 0.4 o B 1 M 541 ) 114.4
o WK B %E(+§T§§)§Hﬁﬁﬂ#§i\iﬂ!ﬁii&%§ T -RromE
1 I S U (= iJ“'_ y [ — —
rElE R ns Wi % E w2 W W
B i3 3 B ¥ 2 I
- A 14 14 5.8 8.4'\ 1652.5 9?.3 1%.2 1%.5 1%.7 16 6
:tiga 2 B 2 & I B oog (7 2.8' =y 6. (=274 0.3 o (I o1 ) o3
N — — B 10! 13 4.5 .0 175.3 113.3 119 8.0 12. 10.6
R ke S y | Ill =y 2| (=) 0.2 (= o2 (Mi1zal (P §§ > 06| = og B O.Z B oa
+7: A 15| ~ 20| 5.3 ) 8.2 124.2 721 5.5 3.0 6.5 4.6
A=y 2 o (1) 0.4 () 0.6 (=) 19.7| (=) 56/ 06 (= o8 = o9 D 06
— B 12 '15 © 57 77 139.9) 110.3 4.6 0.8 5.0 1.6
ZrEEa ) (=> 1l (=) 6 () o ¢ oz (=112 (1150 +) o2l (= o1 = oz () 04
- A 11 . 17 4.7 7.1 155.0] 126.7 6.3 2.4 6.5 2.8
_135,53 ) B ol = 1] = o4 (D oz (= 7.6 (P 108 v o9 B nIi ¢ 10 ¢ LI
- :i A 13; 19 . 6.:3 ) 7.5 /..157‘6 ,_.107.? ) 10.5 5.9 9.9 5.8
& fF erf.g b 0, of (1 oy ) o4 ) 24.8] (=) 42.3) () L3 ¢ o2 B 11 (G DI ¥
B 10! 16 5.9 7.1 203.0 170.0) 15.4 11.7 14.3 10.4
4‘1{.5 y | & 4% A 1 ¢ 2.8 ¢ o3 (i1sa ) L5 00 ¢ oz G» oo ) 06
| 10| 9 59 6.6 231.0 219.5 20.0 16.6 18.3 14.7
435.135 ) (= 3 &2 6 2 o4 (=) ozl (1 31.6] (11450 (=) o2 1 o4 = 03 () o~
A 16 20 7.7 8.5 150.0 150.1 24.1 21.9 22.4 19.9
zgsg—;a b (B 1 (B 4 P o5 P 061l e 20.1\ (-l‘)11.9| (=) 0.2l (P oy = o1 (G PR
T I Tt e RRES Rl s e b P Ex = b 2B vF D~ ER = PR =
XY BTY
= — FA P T 2= 4
I B Bl = R VBRI RR o
gy m W 2 E M T3 48 \ BE A8 ; 5E AE | EE@ESE | % Kk B | BEFBI
HEl, ¥ O = ]
| s = | K Hﬁma )| e e | ki (e )| e [BiEs ke xig (|
—_— - T T E 2 —' 9
74 B T 53} 143 ooi 210 () 13 b6 =) o7 67 (= 8] 714 O 66 84.7 (l‘)226
( . (_}; ) 14.6] (- 0.7( 20.8 (+) o.1 8.5 (=) 2.1 70 =) 5| 69.9 () 16.2 78.8 (424.6
I B G:HR A< £ 16.5 (=) 0.4 22.3] ) og4| 1Lz (7 5.6 73 ol 34.1| (= 309 8rg (1134
: l 1 3 3 9
( F 11 18.5] P 01‘ 23.9| (= o.2| 139 (¥) o7 73 o| 198 (388 70.3 () 6.4
R A &t £ 216/ (1) 1.0J 25.9l -y o] 169 (1) 1.7 7al ) 2] 437! (7281 53.6‘ (=155}




R % 9
=2 — FA ey =
“Eﬁ—%—&rmm%jqb‘)vgﬁ%qﬁﬁ/ RR "
i ]
rH AR | BRELAE | BEAR (REGEE | B Kk B H 0# w8
ilpa) wmoE s B A ) - :
| At [Bie sy | A FE T )| ke s B y| ke | Tpa | ke Py
5 E{ﬂ B—H#HA 14.2] (=) 0.6, 22.3 (&) 0.51 841 (=) 0.3 71| (=) 1 176> 7.0 31.4] (<) 1.2
~A—=+8 16.20 (B o7l 223 (& oz 1L3 (=) L8 771 (B 31 28.0(=) 2.4 229 (=) 5.2
#—A—m # 193 (=) 2.8 262 (P 20 144 ) 38 76 P 3 13.2(7) 224 28.8] () 5.6
[ # H—h H 7.1 (B o2 252 (1) 12 118 (-) 03 76l (B 1] 10.5(-) 19.8] 28.3 (=) 09
o + HB—tEg 17.6] (=) o.51 24.3] () 0.5 134 =) o] . 8l (= o 14.0(=) 19.9] 224 (F) 04
{ﬁ/‘ﬁ +H5—tAHH 204 (1) 2.4 268 P 2.2 16.1] () 3.I 8o (= 3 81.6(~) 47.9 =20.1| (= 0.7
] Zta—H#mEg 17.5] (=0 1.8 25.2) (1) o4 IL7 > 3.3 76 (1) 3 044 53.8] 31.7{ (7149
HHEE—H B 18.8 (=) 0.2 24.0 0.7\ 15.1 ‘0.0 85| ) 4 198.6/(-) 145.0 130 (= 3.7
Liy =+HB—m™ H 19.4] () o1 23.8 1.6l 169 (=) 14 87| (> 6] 151.6() 994 5.8 (130
- % B—h H 20.3 0.0 27.1 (=) 1.6l 14.5 2.1 79l =) 20 3r0(=) 10.6] 242/ (P 1.3
~tbA + p—+m 239 (9 15 320 P 13 181 ¢ ny 79l (D2 98 SLT 3R5| (IT9
“+HBE—THB 224 ¢ 06 29.3 () 1.4 179 () 05 82l (> 1| 46.8(— 200 27.2] () 5.4
e DIy 1 28 LRI A TR Re LEZACORT Ll LS S
{
Iy B B Em il = A o v ARTERIR 2 BR g7 -+ieE
. S 5198 == A2 3 r Nz ﬂ‘AF“F\' 75& | g (=N 7
g] . . I RIR B EREE TR E | e (B %530 K2 A pEne gk
-~ I - T . - -
’ g | mu | e | mu | e | dw | see | | e | sl g | | e | B
- i 3 3 E ¥ L K B 7 W )
i /Eg 10.7! 62| 151} 12 zi 6.7 1.5 12.8 S5 11.9\ 6.5 69 79| 52.9 60.6 55.5 45.2
Pgaa ) (7)) 0.3 0.8(7) 1.4 2o|(+) o7(+) 0-5(=) 0.7(=> L.2=) 0.5(=) LE(=)  4{(h)  4(T2L5H) 9.30=) 5.5/(—) 1.0
h /| 132 9y 182 16 6‘ 4.5/ 160 12.6 150 10.2 75 73 549 94.3 62.8] 3508
Zpé,aa y (&) 0.0 0.8{(—) 0.5/ o7(+) 1.1 ('l‘) L8[(H) 0.4{4y 1.3(H) 0.6 0.5 1 0{=)12.7/(1)46.1/(—) 2.6 8.1
T 4 14.3) 107 21.0 Ao.og 8.6 35| 17.4{ 13.9] 15.9 11.8 67 7o| 71.4) 59.8 847 74.0
Fiaa v (B oo 0.2 ) 130 2.2 0.7 I.3A(+) 0.4:(F) 0.5/ 0.0(1) 0.2(—3 8l 4= 6.4(H 9.3(123.6 (+)17.5
£l 14.6] 11.2| 208 200 8.5 3.3 17.7] 14.1] 164 12.6 70 68 69.9 317 78.8 8L3
ZISJqsa ¥ ) 07— 0.9t 01|t 1.0 2.1 2.7 0.6¢-) 0.4() 0.7‘<~J 0.3(=) (=) 5(—)16.4()28.1/(1)24.6/(1230.9
P # | 165 132 223 216 112 6.0 204 16.6| 18.6i 14.7 73 71| 341 2600 819l 706
A ipa Y (7 0.4((H) 0.1 0.4 LI 05 (=) 0.8+ 0.5/ 0.7 o0.0CI0.5E  ofl™) 2{(—)30.7/(=26.5/(+313.5,(+)14:9
T 4| 185 155 239 227 139 21.7) 18.9 198 164 73 74 18.0 2071 70.3] 067.7
Fgpay (O 0.0(h 0.3(7) LE6(H 0.2(H) 07 (=) 0.I|(H) 0.9{(—) 0.2[(F) 0.9 © 0(—)35.1((7)10.5(—) 6.4~ 1.3
t ] 21.0 17.9 259 253 16.9 12.8' 236 21,3 219 187 74 771 437 283 536 597
k= g () 1.o[(F) 0.9((H) 0.5/(+) 0.9 L7|Ch 1.9((+) 0.1/(H) 0.9l 0,41 1.2[(=) 207 40 2.8(=) 9.2[(=D15.7¢7) 2.9
L L] 219 19.3 267 257 18.1f 100 24.2 22.3} 22.4| 19.9 81 790 146.9 9.4 50.2) 429
Agpsea y [ 0.5 1.4 04/(H 1.3 (1) 0.7/ 3.1(=) 0.11(+) LI 0.2/(F) L2l¢h) 2= 5l¢H58. 51471 3.6/ 2.2
F A 215l 18.3] 25.7| 24.6] 17.8 13.8 244 220 229 20.6 8o 81) 136.2| 218, 9‘ 46.2| 475
Fagpa y () LI 08 Lafi=) 0a[i=) LI-) L) 08 o= 07|t 0.9t 1) 7(H)23.7(F10. §(=) 0.8(h12.6
k47| 236 202 273 260 206 157 257 224/ 240 213 82 83 150.2{ 162.3 433 365
gy | 0.0(h) 0.2(=) 0.7/ 0.5¢F) 0.5(=) 0.3(=) 0.7(=) 0.8(7) 0.7(H) 04 (R 2507 +59.9(=) 9.1~ 3.8
)w 4| 276 239 337 306 22 5t 180 302 265 27.5 240 69 8 37 56.6 961 65.3
BYsea y |0 Lo L3H) 33 3308 05H 04(h) 2.1{Ch) 209 1.30H 1.9 1 2/(=)95.3¢)62.9(—)35.4/1)18.8
T 4 26.2| 22.6] 305 286/ 232 187 289 256 270 24.6 78 81| 62.1| 419 595/ 421
Fsga y () 0.2(—) Lo 0.6/(—) 1.ol<+) 0.3/(=) 0.4/ o.6|<+> 0.9[(-) 0.3+ 0.8 (P 2(-*)25.7!(-!‘) L.3[(=13.2(17.8






